GenS vs Genb

Transfer Function

Transfer Function of b

0.045 ;h hTFBtm0_0
= Entries 83930
0.04—
- Mean 0.1237
0.035
E MS  0.1827
0.03F
“-“25;_ mean gen5: 0.124 | gen6: 0.127
0.02F
- RMS gen5: 0.183 gen6: 0.179
0.015
0.01
0.005 J
u:llllllllllllLL II|IIII|III|IIII|
-2

-1.56 -1 -0.5 0 0.5 1 1.5

0.05

0.04

0.03

0.02

0.01

Transfer Function of g

- hTFQrk@_0

Entries 83930
Mean 0.04235

RMS 0.18

mean gen5: 0.04 gen6: 0.046

RMS genb5: 0.18 gen6: 0.176




JointLikelihood

Likelihood 0 for event 0

JointLikelihood

Likelihood 0 for event 0

1240 700l hDImMassOEv0
gen 6 hDIimMass0Ev0 E gen 5 Entries 8000160
1235 Entries 1.600016e+07 e80L Mean 174.6
660 |— RMS 9.035
last week Mean 1787 :
1230 saof- 174.79+14;
RMS 8.83 u .

1225 2.54

178.98+2%
1220
1215

1210

1205 |

right combination
100 events

700

680

660

640

620

600

620—
600

580

T T S T YO T T N YO S VO N S S S NS S HN S NN SR M S M|
560,60 165 170 175 180 185 190

w —m—wm—w— JointLikelihood

Likelihood 0 for event 0

hDimMass0OEv0 |

gen 6 Entries 8ooo1srgf
. Mean 17
after a bug fix =% 0.033

177.87+3 23

1 | I I I I | I 1 I I | 1 1 I I | I 1 1 I | I 1 1 1 | I I 1
165 170 175 180 185 190



